
Group: FOCS-SUPERFOCS
Engine: LDW 702   Drawing: C

CRANKSHAFT/FLYWHEEL
POS. CODE DESCRIPTION Qty
  1 2280.119 key 1  2 1051.104 CRANKSHAFT 1  3 9080.132 plug diam. 6 2  5 2816.088 crown gear  Ø 238 z=94 1  6 9881.143 FLYWHEEL with crown z = 94 (Kg 9,1) 1  6 9881.149 FLYWHEEL with crown (6''1/2) 1  6 9881.160 FLYWHEEL with crown (6''1/2-1500 R.P.M.) 1  6 9881.213 FLYWHELL with crown gear 1  6 9881.615 FLYWHEEL with crown z =  94 (Kg 7,4) 1  6a «–––––» FLYWHEEL with crown+alt.rotor 0  6a 9881.142 FLYWHEEL with crown z = 94 (Kg 9,1) and alternator rotor 1  6a 9881.151 FLYWHEEL with crown gear 1  6a 9881.210 FLYWHEEL with crown+alt.rotor 1  6a 9881.214 FLYWHELL with crown gear and alternator  rotor 1  6a 9881.222 FLYWHEEL with crown+alt.rot 1  7 1780.097 bolt M 10 X 30 5  7 1780.105 bolt M 10 X 35 5  8 9865.258 screw M 16 X 1,5 left rotation 1  9 «–––––» lockpin 0 10 2280.149 key (mm 8) 1 11 8430.004 tapper pin 1 16 2002.020 rotor   12 V 30 A 1 17 2280.050 key 6,32 X 6,32 X 60 1 18 1111.127 "shaft eXtension on flywheel 1""" 1 21 7565.011 washer diam.10 8 22 9730.044 screw M 10 X 25 8

printed by LOMBARDINI:   29/03/2018  -      1



Engine: LDW 702  Drawing: C

printed by LOMBARDINI:   29/03/2018


